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R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
1 100kN/m##8% % 1.00{0.00 ~ 0.73 110.82| 3m%*x#B2 5% ol ~ = = —| 100kN/mM%#BZ % 1.00{ 1260 ~ 16.19 110.82| 3m%x#B 25 =l ~ - - =
s 1.00/0.73 ~ 8.51 100.00f Zhkl4t |0.00 ~ 8.51| 2.10 11.25 s 1.00f 5.00 ~ 12.60 100.00f Zhl4t+ | 5.00 ~ 16.19] 2.10 11.25
9 100kN/m##8 %% 1.00{0.00 ~ 0.10 101.41|3m%x#B25 ol ~ = = —| 100kN/mM%#8Z % 1.00{ 1260 ~ 13.00 101.41|3m%EF#B25 =l ~ - - =
s 1.00{0.10 ~ 7.88 100.00f Z=hki4t |0.00 ~ 7.88] 1.93 10.35 s 1.00f 5.00 ~ 12.60 100.00f Z=hl4t+ | 5.00 ~ 13.00f 1.93 10.35
3 100kN/m##8 %% 1.00{0.00 ~ 1.12 116.84| 3m%x#B2 5% ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.93 ~ 14.99 116.84| 3m%x#B 25 =l ~ - - =
s 1.00{1.12 ~ 8.90 100.00f Z=hki4t | 0.00 ~ 8.90| 2.06 11.02 s 1.00f 5.00 ~ 10.93 100.00f Zhlst | 5.00 ~ 1499 2.06 11.02
4 100kN/m##8 %% 1.00{ 0.00 ~ 0.66 109.84| 3m%*x#B2 5% ol ~ = = —| 100kN/mM%#2Z % 1.00( 12.64 ~ 15.88 109.84| 3m%x#B 25 =l ~ - - =
s 1.00] 0.66 ~ 8.45 100.00f Zhkl9t |0.00 ~ 8.45| 2.10 11.23 s 1.00f 500 ~ 12.64 100.00f Zhl4t+ | 5.00 ~ 1588 2.10 11.23
8 100kN/m##8 %% 1.00{ 0.00 ~ 2.09 132.35|3m%*x#B2 5% ol ~ = = —| 100kN/mM%#BZ % 1.00{ 11.23 ~ 22.99 132.35|3m%x#B2 5 =l ~ - - =
s 1.00{2.09 ~ 9.87 100.00f Zhklst+ |0.00 ~ 9.87| 251 13.41 s 1.00f 500 ~ 11.23 100.00f Zhist | 5.00 ~ 2299| 2.51 13.41
9 100kN/m##8 %% 1.00{0.00 ~ 153 123.35|3m%*x#B2 5% ol ~ = = —| 100kN/mM%#2Z % 1.00( 1246 ~ 22.99 123.35|3m%x#B2 5 =l ~ - - =
s 1.00{1.53 ~ 9.32 100.00f Zhkl9t |0.00 ~ 9.32| 240 12.87 s 1.00f 500 ~ 12.46 100.00f Zhlst | 5.00 ~ 2299 2.40 12.87
10 100kN/m##8 %% 1.00{0.00 ~ 1.38 120.90| 3m%*#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 12.67 ~ 22.00 120.90| 3m%x#B 25 =l ~ - - =
s 1.00{1.38 ~ 9.16 100.00f Z=hki4t | 0.00 ~ 9.16] 2.39 12.80 st 1.00f 500 ~ 12.67 100.00f Z=hl4t | 5.00 ~ 22.00f 2.39 12.80
11 100kN/m##8 %% 1.00{0.00 ~ 235 136.68| 3m%x#82x5% ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.69 ~ 20.00 136.68| 3m%x#B2 5 =l ~ - - =
s 1.00{2.35 ~ 10.14 100.00f Z=hi4t | 0.00 ~ 10.14| 2.82 15.12 st 1.00f 5.00 ~ 10.69 100.00f Z=hl4t+ | 5.00 ~ 20.00f 2.82 15.12
12 100kN/m##8 %% 1.00{0.00 ~ 1.03 115.53|3m%x# %% 0.00 ~ 0.42 3.33 17.82| 100kN/m#%#B 2% 1.00{ 15.05 ~ 20.00 115.53| 3m%x#B 25 - ~ 20.00f 3.33 17.82
s 1.00{1.03 ~ 8.82 100.00f Zhlst | 042 ~ 8.82| 3.00 16.05 s 1.00f 5.00 ~ 15.05 100.00f Z=hl4t+ | 5.00 ~ 20.00f 3.33 17.82
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~ |
=EFR




